5C4 - Solve addition and subtraction multi-step problems in contexts, deciding which operations and methods to use and

why

84 + 31 +55-20

150 + 35 - 64 - 36

Work out. Work out.

[ Item Price |
Pencil case £ 2.50
Compass £ 5.90
Calculator £15.00 A train is carrying 150 passengers. At the first station 94
Ruler £ 1.50 people get off and 265 people get on. At the second
Pen £ 4.00 station 108 people get off and 228 people get on.
Pencils (5 pack) £ 2.90 How many passengers are now on the train?
Pencil sharpener £ 0.80

|_Rubber £ 0.60

Matthew buys a pencil case, compass, rubber and 2 pens.

How much has he spent in total?

[ Item Price |
Pencil case £ 2.50
Compass £ 5.90
Calculator £15.00
Ruler £ 1.50
Pen £ 4.00
Pencils (5 pack) £ 2.90
Pencil sharpener £ 0.80

| Rubber £ 0.60

Sophie buys a calculator, a pack of pencils, 2 pens and 2
rubbers. She gives the shopkeeper £30.
How much change is she given?

( ltem Original | Sale ]
Price | Price
MTX Mega-jump Bike £ 295 |£ 225
Starlight Super Bike £ 269 |£ 219
Boulder Mountain Bike £ 350 (£ 299
Silver Slick Helmet £ 50 |£ 35
Ace Pro Helmet £ 65 |£ 49
Night Vision Lights £ 29 |£ 23

L Hear-me-coming Bell £ 18 |£ 15 )

Jack buys the MTX Mega-jump Bike and the Silver Slick
Helmet in the sale.
How much did he save in total compared to the original
prices?




